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80 Time : 4 Hours
s in the right-hand margin indicate marks
- Candidates are required to give their answers in
their own words as far as practicable.

‘1. Answer any seven from the following questions:
| x7=7
“a)” Define nodal region. |
,b)‘/What do you mean by NCR?

b 1 “-/Which river was known as 'River of Sorrow’
p in West Bengal?

d) WhatisDPAP? Dvev§ 4t Fnov‘;ﬂ‘;ﬁmwa-

‘ej/ Who propounded the concept of "Growth
foBole"? T FaN\Gh 4ovomils £ Tacques

E .
p/ In which state the largest river island is ﬂudﬂ‘”’/ l A
situated 26— v\ 4
g) Where has been 'Jawahar Tunnel' constructed? Kuﬁh"ﬁiﬂ o
h)  What is 'Bagar'?

| iy [Turn over] | H
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.r‘r‘ Numé a district where "Sundari t PO - !
Ly lighlight the problems of industrial
2 Answer any six questions fevelopment of West Bengal
o " Define ‘environmental planning’ in context of } Flgbarnte the fundamental issues of Sindarhan
r
regional developimen "
b)  What is Dampier anid Hodges line? Answer any four from the following questions:
/.,". In which part of Indin 'syntaxi Is' § | O=d=40
observed? 4 Elucidate  the distribution and chinracieristic
wolls in western plateau reglon of West
d) What do you mean pir s | I i region ol Wes
= I RahrBengal
Sysicm
! ) i . .
) ) ! d 1 n i of the vale of
& What is '"Pal lands %y
[} In which i1 1 111 |
raller 1 hemi
gl—"Whai is ‘rohi' in Marustha ! 5 tth il
- Faasdes N | o Nei s A { L+
r . PIT T A 4 oLl iva |
hy What 15 INNLIRA ".A'.‘_"k'"w"'l Oeie i I 'I.' 1 o
Re VL y 35| B B Critically analys
3 Answer any three guestions S " =
- a4 i 1
__..:’J.l Jl':l'l.l'Jll the blo -L\I_.!_ el el | ‘.!-._I ¥ Ilustra the methods o {elineation ' a
sunds nas a i i P g -
Sundarban as a Biosphere Rese i functional region
TR 343 &% >
.":”F Differentiate betwe {acro and A
regional planning
.r"'E)J Enumerate the processes of evolution of NCR
RN with special reference to Delhi
] /
HN5c) y
(2] M0(Se) (3]
1
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Time : 4 Hours
'Hze figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

SECTION-A

. 1.  Answer any seven from the following questions:
1x7=7

] ) a) ‘Givc an example of weight losing raw material.

| ,b)/ ‘Mention a merit of crop rotation.

- /e)f“ What do you mean by 'Thum' cultivation?

zd‘)"/ Define 'material index'

_e)~ Mention two rav/ Inatetials of paper industry.

B~ What is plankton?
,4)/' Name a petro-chemical industrial centre of
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Answer any four from the following questions: '
1 -'?r IF
<" Outline the scope and content of Economic I
f_(}euyaph)r.
/9’/ Clarify the factors of location and development of
paper industry in Canada. .

pical 10. Account for the major commercial fishing zones
Sodaoane’ highlighting their location factors, problems and
T prospects.
11.  Explain the different sectors of economy and their
linkages with suitable examples.

}2./ Bring out the locational factors, and prospects of

iron and steel industry of Japan.
| 137 Critically evaluate the theory of industrial location
propounded by August Losch,
1
| .

‘ B9Se) . [3]
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Candidates are required to give their answers ﬂt t
their own words as far as practicable. i '
Answer all the questions.
ok and Viva Voce.  5+5=10

fos o ! Draw neat graticule of Polar Zenithal

[ .3 1077 . _—

= Stereographic  Projection for an area
extending from 30°N to 70°N and 40°E to
140°E at' an interval of 10° on a scale of
1:100,000,000.

Distinguish between perspective and

non-perspeclive  projections.

What is meant by Azimuthal ijm
16+242: “1.’.
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4. From the given set of data (Table No. 2j :-

a) Draw a time series graph.

b) Fita trend line by 3-year moving average method and mtexprel:
 thetrend : 3+{3+2)=8

| s Table No. 2
4 _ Years Foodgrains Production in m&

("000 Tonnes)
2007 - 2008 230775
2008 - 2009 234466 o
2009 - 2010 218107« = éie .

2010-2011
2011-2012
zop 2013
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Percentnge coverage
under irrigation-X
47.8
29.7
35.1
48.3
42.8
§ 222,
40.8
49 8

'\'.'-'

Group-B
6. Laboratory Notebook and

A
Viva-voce.

N 2018

.; Practical o SET-IT] @ Full Marks -
. Answer all the questio

k< Group-A 5ol
« What are meant by discrete and continuous data? Giw-om xample
£or each. i '

‘Compute frequency d:stnbutmn into six classes f¢ - giv
annual rainfal| (in centimeters )ufsom taslc b R
115678990090899111 |

m.g@s
108.0, 110.0, 72.0, 75.0, 83.3, 120, 9
116.0,98.7,100.4,77.5, 5,993, muﬁ
- 79.9,90.1,91.1,84.4,129.0, 95,5,
,s,mu n&s,mg.y :

5{] ® Time - 4 hours
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._.'* ! :. --l-"_"-I Ih‘ﬂ Q"s':‘-_’m I ""l,
._ L iy T ‘MW -_‘] E

1?35 p .:. 4

§¥ i '2'5;43 _ 1672 R
i 12.88 ‘N
ara 2198 18.54 |

o 5 . 708 1101

T 13.77 9.26

; 20.25 14.22

l
S ﬁmhmmofmmmmo 2

R ,“;& ~ Draw a time series graph. '

' : Httﬂmdlimby:iywmovingavemge method and interpret
e 34+(3+2)=8
ﬁm Table No. 2

Lol w., R S s Net Availability of Wheat in

. . India (Gram/Capita/Day)

J'f_ oot o Al + 2007 157.8

¥R s o 3008 145.1

BT 2009 154.7
SN 2000-> .., 168.2
' 163.5 -

1584 s -

M58 s e

183.1 par |

16y~ BECHRS
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Table
Percentage of Gross No. 3

Irrigateq
Area to Total Cropped Area-X : Cropping
38.7 ntensity (%).y
398 1222 .
449 :21.2
474 u‘é—‘; |
46.3 ;
2 126.1
e 127.3
a%n
4;}“* 125.7 |
> 129.7
Group-B
6. - Laboratory Notebook and Viva-voce. S545=10
2018 SIXTH PAPER
Practical @ |SE] l_Z'.‘] ® Full Marks - 50 ® Time - 4 hours
iswer all the questions ® Group-A
e Ex ic sampling with examples 3
2. - listribution into six classes for the given
tape of electrified households of 30
0. 11.14. 34.58, 20.0Q,31.89, 23.35, | 7.25,
R 24.80. 24.44, 16.70, 33.56, 39 45. 11.88.
' 38.33. 17.20, 16.06, 30.07, 29.01, 12.88,
v7 08. 15.10. 14.33, 17.07, 25.401 21.20,
) 17 88. 32.04. 33.671 32.07, 12.50, 26.90,
091 3300.15.98,15.98
») From the prepared frequency distribution table:
1' i

1l Calculate mean deviation. =
Draw a histogram showing location of mode mit. SH3+3H)=
I NISLOgialil E

1) aw d ) . : two
Calculate ( oefficient of Variations of the given ra".‘fa". e on-
" rnees (Table No.1). Which weather stgtion 1S more

5+1=6

weather stations .
TR 11
sistent in terms of rainfall’

'n
Scanned by CamScanner



12,2958
17170 *“ |
20\20-- ' _,‘;‘-‘I

‘|I' "-

SIXTH PApPE

Ly

e R o rul Mark 5 g R

3 2\ Answer all the questions ® Group-4A

-| ’ - - - :

% ;1_7 a) Mention any tow limitations of moving average method in time
] Series analysis. .

b ) “Whatis testof significances ' e

82 a) Compute frequency distribution into six classes for the gi .' '

: set of data. (Female literacy rates of 50 Villages) : ey

» 47.05,44.12,48.88, 75,09, 36.88,21.27,18.11,47.00,46.01,77.38,

26.66,40.34,76.44, 30.08,20.25,23,07, .55,74.80, )
68.99,27.02,56.31, 57.00, 33.56,36.50, 46.10,_40;88;?59’;
60.20, 37.25, 52.20, 40.20, 54.88, 2-5.22,'28.:70,_ 48.90, 35, 5,70.25,

, 38.70, 65.00, 58.67, 44.09, 60.20), 47.11,33.30, 64.40, 43 40, 9,01

~ b) From the prepared frequency distribution table:

i) Calculate mean. : %

- i) Calculate median. : :
"?"-*.*-5 i) Draw a frequency polygon.

| 3. Calculate ZScores of the given set of da :

rﬁ:'rar T T =
R . R R =

£
kR 1~

_5‘,‘

4 5 g
- e el e
A v . - Scanned by CamScanner



ey
¢ s Lo L7 a-rJ-: ...'
il o] October 2601 m:h
B "Novmw 23.13 4221 TN
s L December 11.77 395 - J—

P
X4

. ﬁ'- . - -2; "q
' 4 Fromthegwensetof‘data (Table No. 2) :- : i

a) Draw a time series graph. l‘*
b) Fit E trend line by semi average method and interpret the trend:

3H3+1)=T
Table No. 2 ' o
Years Area under total Cereals
. , in India (000 Hectares)
J 2002-03 93364 :
- 2003 -04 99988
2004 - 05 97315
2005 - 06 99208 b
2006-07 100516 i
2007 - 08 100435~ L o U
2008-09 100739 : '3 : :‘,
AR | 2009-10 98051 '
B 0201011 | 100269
J - 2011-12 100293

J @gimsetnfdnta('l'abileNo 3)
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Years

2006 - 07
2007 - 08
2008 - 09
2009 - 10
12010-11
2011 - 12
2012 - 13
2013 - 14

| 20i5- 16

Table No. 2
Area of Groundnut
Cultivation in
India (000 Hectares)
5615
6292
6165
5478
5856
5264
4721
5505 .
4769
4597

Table No. 3
Literacy = Newspaper
Rate Population
(%)-X (%)-Y
68.70 '
56.65
72.88
85.44
90.92
60.25
52.25°
87.69
91.20 . %
4348
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2 Name the proponents of Plate Tectonic Theory.
b (b wrgn SRETR AR R
= D Where is Labrador current found?
= What is meant by continental shelf and continental

s
.
N = F P
i

e
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¢)  What are the different types of plate boundaries?
o Discuss about the landforms developed on
converging plate boundaries, | +4=5

ASHANTEY &1 cowolz fF e wfend sire-nnce
e @Il ghimoiefEa afar we |

}i)' What is meant by hydrosphere? Discuss the
W= - mechanism of hydrological cycle. 1+4=5

e & 9=re & @@ e sescea dfda e a4
3 Answer any two of the following: 10x2=20

Describe with illustrations the different stages
ir fthe ﬂuvial cycle of erosion after Davis and

-
__,..
r

I 1
W IO Sarifa

'h-l - . .

JIJ LI 'i.l-._l.-_ 1 pY f -8 ? )

| —_—l -

. o - A

e = il

B e et
EHMD mﬂf | AUFE €
-®
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IBA/Geog/P UG/1st Sem/GEOP/CC-T-1/18

U.G. 1st Semester Examination - 2018

GEOGRAPHY
(PROGRAMME)
Course Code : GEOP/CC-T-1
Full- Marks : 40 Time : 2% Hours

Candidates are required to give their answers in their

The figures in the right-hand margin indicate marks. |

own words as far as practicable.

1. Answer any five of the following: 2x5=10

@-(FA o¥ofS 2z Taz wie ¢ |

o

a) What is exfoliation?

GHFfe s arE ¢

b) What are the constituent materials of the earth's
£
core?

ofedia (wEmEn @ @ o wa sfdey
&) What is a Barchan?
AW FIE AL

d) What is meant by Crag and Tail?

b TR B e

&9l € (bF e & @iy

[ Turn over/

W o TR AW . 7V LN T . T T s a—

T TR
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L.~ Answer any ten questions from the following: SR -
' 21020 g

~<a) What is radiocarbon dating? = h
) What is isoseismal line?. |

(0) What is meant by benioff zone? ’

< Define strike. 7 s 5

- e) What is caldera? | | : ,

o B

et Define anticlinorium. il

- 2) What is meant by inversion of relzej" it

e - 4)  Define nappe. ,
o) ‘What is attrition? PM—U&

Define base level of erosion.
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;i’entiate normal faults from reverse faults.

An lyse the mechanism of fissure eruption with
feference to plate tectonics theory

3. Answer any two questions frorn the followmg
,£F~ ‘ _ 10x2=20

a) Discuss the earth's tectonic and structural
evolution with reference to geological time scale.

Bringout the difference between the models of
~ Davis and Penck on landscape evolution with
sketches.

: - ~©) Give an account of the major coastal d_epositional
landforms produced by sea waves with suitable
diagrams.

Analyse the major physical weathering processes
in hot desert region with diagrams.

e e ——

(2)
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qures in the right-hand m‘afgin indicdté’:?mark&.
a_tes are required to give their answers in thezr '
own words as far as practlcable

1. Answer any five questions from the following:
2x5=10

#‘-‘f(é{ Deﬁne map proj‘ectioh.
b)) WHat_ is choropleth» map?
‘.ﬁ) What is the significance bf scale on map?
-~ 4y Differentiate strike from dip.
e) AWhat is transect char%7
f) Mention two characterlsucs of baux1te
g) What do you mean by direct vernier?

>-h)  What is polar coordinate?

£ - [Turn over]
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& and apparent dip. Tostrts P ET 2+3

; ,&-ﬁ s
5 f@L Answer any two of the followmg questlons
- 10%x2=20
",:,- | Va)/ Describe the classification of maps mentionihg
| Btheir bases. 2 ‘ 10

: b) Elaborate the_ éonéept of UTM projectioh and

mention the significances of it. 108

¢) Discuss the nature and scope of cartography.

10

| \/df)’ Highlight the major properties and uses of Simple
Conical Projection with one standard parallel.
E | What are the demerits of this projection?
| 7+3

10
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Code : GEO(I)CC/P'?‘[',Z'
| [PRACTICAL]

. SET-V P
Bull Marks : 20  Time : 2 Hours
f 25 The fi gures in the margin mdzcate marks

Candzdate are required to give thezr answers in their
own words as for as practicable.

Answer all the questions.

o

1. a) Construct a vernier scale to read 3.88 inches
when the value of one small main scale division
is 1/10" of an inch and 9 small main scale %

divisions are equal to 10 small vernier scale
divisions.

b) Prepare an averagé slope rriap on,aﬁ area
(10cmx10cm) from the given toposheet.
5+5=10

5+5 10
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